Bryan Berns

ECE 320

Assignment 12
16.6)

[image: image1.wmf](

)

(

)

[

]

[

]

8

127

L

0

0

7

8

0

0

11

10

20010510

1 since open circuit (Z= )

100501

1503

1010

10 s

10

50010

 V

1503

Since it takes .1 

μs to go all the way t

o the end, it will have gone ba

p

L

g

g

g

p

g

g

v

LC

ZZ

ZZ

t

v

VZ

V

ZZ

--

-

+

===

××

G=¥

-

-

G===

+

D===

===

+

{

{

{

(

)

[

]

2

2222

.5

0

2

34

ck and fourth 4 times by .5 

μs:

1011790

122229.26 V

33381

Since 50 

μs is much longer than trasmiss

ion d

sLLgLgLggg

t

tt

tt

tttt

VVV

m

++

=

=D

=D

=D=D

æö

æö

æöæö

ç÷

=+G+GG+GG+GG=+G+G=++==

ç÷

ç÷ç÷

ç÷

ç÷

èøèø

èø

èø

123123

[

]

50

elay, we can treat this as an infinite s

eries:

1

10

310.00 V

13

L

s

Lg

VVV

m

+

¥

+G

»==×=

-GG


6.18)

[image: image2.wmf][

]

[

]

(

)

(

)

[

]

0

0

0

00

1264

10000501001100100

1000

1501003100100

50100

10033.3 V

100503

1002

.667 V

1001003

1000100010101010 s

Since the generato

g

L

Lg

Lg

L

g

gL

g

gL

p

ZZ

ZZ

L

Z

CZZZZ

Z

VV

ZZ

V

I

ZZ

l

tlLC

v

¥

¥

---

-

-

--

===G===-G===

++++

===»

++

===»

++

D===××=

{

{

{

{

{

[

]

222

00

2

34

4

r reflects nothing, only the single puls

e, plus its initial return will sum:

1...1

10 s

Again since the gener

gLLgLgLgL

tt

tttt

tt

tttt

load

VVV

tt

++

==

=D=D

=D

=D=D

-

æö

æö

ç÷

=+G+GG+GG+GG=+G

ç÷

ç÷

ç÷

èø

èø

=D=

123123

[

]

4

ator reflects nothing, only the single p

ulse, plus its initial return will sum. 

That voltage then must travel pack to th

e generator over the distance of 100 m:

2210 s

gen

tt

-

=D=×


3)


[image: image3.wmf](

)

(

)

[

]

(

)

0

0

00

6

88

0

00

323343

567

50751125751

50755125754

240100

10 s

88

3.0103.010

1010

10075

751001

125752125752

g

L

Lg

Lg

p

gg

gg

gLgLgLg

tttttt

ZZ

ZZ

ZZZZ

l

t

v

VZV

VI

ZZZZ

VV

-

--

++

+

=D=D=D

-

-

--

G===-G===

++++

D====

××

======

++++

=GG+GG+GG

123123123

[

]

[

]

445455

899

323343445455

567899

357

.02231 V

16000

143

.0001789 A

800000

Sin

LgLgLg

tttttt

gLgLgLgLgLgLg

tttttttttttt

II

=D=D=D

+

=D=D=D=D=D=D

æö

ç÷

+GG+GG+GG=-=-

ç÷

èø

æö

ç÷

=-GG+GG-GG+GG-GG+GG==

ç÷

èø

123123123

123123123123123123

11121223233

567899

ce reflectives coefficients are less tha

n 1:

lim0

nnnnnnnnnnnn

gsteadyLgLgLgLgLgLg

n

tttttttttttt

gst

VV

I

++++++++++++

-

®¥

=D=D=D=D=D=D

-

æö

ç÷

=GG+GG+GG+GG+GG+GG=

ç÷

èø

142431424314243142431424314243

11121223233

567899

lim0

nnnnnnnnnnnn

eadyLgLgLgLgLgLg

n

tttttttttttt

V

++++++++++++

®¥

=D=D=D=D=D=D

æö

ç÷

=-GG+GG-GG+GG-GG+GG=

ç÷

èø

142431424314243142431424314243




4)

[image: image4.wmf][

]

144032144033192043192044240054240055

5678910

144032

5

.0194 V

gLgLgLgLgLgLg

tttttttttttt

gLg

t

VVeeeeee

IIe

aaaaaa

a

+------

=D=D=D=D=D=D

+-

=

æö

ç÷

=GG+GG+GG+GG+GG+GG=-

ç÷

èø

=-GG

1442443144244314424431442443144244314424

43

[

]

144033192043192044240054240055

678910

.000155 A

LgLgLgLgLg

ttttttttttt

eeeee

aaaaa

-----

D=D=D=D=D=D

æö

ç÷

+GG-GG+GG-GG+GG=

ç÷

èø

1442443144244314424431442443144244314424

43




















_1100351643.unknown

_1100351806.unknown

_1100351805.unknown

_1100290846.unknown

